
XT Plumbing Kit Parts List for 215 Gal. Tanks 

 

 

 

Part # 8557                                                Part # 81010013                                    Part # 8186                                        Part # 8475                                    

Pipe Nipple 1/2” x 5.5”                           Pipe Nipple 1/2” x 3”                            Close Nipple 1/2”                              Close Nipple 3/8”  

Qty: 1                                                         Qty: 1                                                       Qty: 1                                                  Qty: 1 

 

 

 

 

 

Part # 8882                                                 Part # 8185                                       Part # 8904                                          Part # 8924                  

Close Nipple 1/8”                                      Pipe Plug 1/2”                                  Bushing 1/2” x 1”                               Cap 1/2”                           

Qty: 1                                                           Qty: 2                                                Qty: 2                                                    Qty: 1   

      

     

 

 

 

 

Part # 8919                                            Part # 8902                                            Part # 9572                                      Part # 8560               

Tee 1/2” x 1/2” x 1/2”                         Street Elbow 1/2”                                 Reducer 1/2” x 3/8”                        Reducer 3/8” x 1/8” 

Qty: 1                                                     Qty: 1                                                      Qty: 1                                                 Qty: 1    

 

 

               

 

 

 

Part # 8850                                          Part # 8563                                            Part # 32141                               Part # 20640149                       

Comp. Elbow 1/2” x 1/4”                 Comp. Elbow 1/2” x 3/8”                     Comp. Fitting 1/2” x 1/2”        Comp. Fitting 1/2”x 1/4”                     

Qty: 1                                                   Qty: 3                                                      Qty: 1                                           Qty: 1 

 



XT Plumbing Kit Parts List for 215 Gal. Tanks 

                

                

                

                

                

                

        

 

 

 

Part # 8187                                                        Part # 81010045                                               Part # 8564                                                    

Ball Valve                                                           Thread Sealant                                                  Copper Line 1/2” x 180”                

Qty: 1                                                                 Qty: 1                                                                  Qty: 1                                             

 

 

 

5/16” Bolt                             

**Qty: 4                                                         

 

 

 

                                                                                                                                                                              

                                                                                            

5/16” Standard Washer                                                                                                                                                                                   

**Qty: 4            

 

Part # 81010004                                                      Part # 81010532                                                   5/16” Lock Washer                                                                  

Pre-bent Copper Line                                              Flexible Conduit 96”                                           **Qty: 4                                                      

Qty: 1                                                                   Qty:1                                                                    

                                                                                                                                                                                                                                                                            

5/16” Nut                                                               

**Qty: 4 

 

 

 

 

   **Standard Hardware Available Locally 


